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QUESTION 1

A user discovers they have outgoing pending changes they did not make. What is the most likely explanation? 

A. Someone else delivered changes to the user\\'s repository workspace. 

B. Someone reverted changes that the user had already accepted in their repository workspace. 

C. The team lead changed the baseline of a component on the integration stream to which the user\\'s repository
workspace delivers its changesto. 

D. A new component was added to the integration stream that the user\\'s repository workspace delivers its changes to. 

Correct Answer: B 

 

QUESTION 2

How do you make use of a process template? 

A. By adding the team members to the process template 

B. By specifying the process template when you create a project area. 

C. By associating a process template to the current iteration. 

D. By creating a process template category for the project 

Correct Answer: B 

 

QUESTION 3

Which two items/objects can own a component? (Choose two.) 

A. A user 

B. An iteration 

C. A source file D. A team area 

Correct Answer: AD 

 

QUESTION 4

What are three ways a new work item can be created? (Choose three.) 

A. from an existing work item 

B. from the RTC Screenshot tool 
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C. from an incoming email 

D. from a build result 

Correct Answer: ABD 

 

QUESTION 5

What can be shared between work item types? 

A. owner, queries and lists 

B. attributes, permissions, and roles 

C. name, summary, and owner 

D. enumerations, attributes and workflows 

Correct Answer: D 

 

QUESTION 6

When does the RTC SCM detect conflicts? (Choose two.) 

A. When incoming and outgoing change sets are coming from the same user 

B. When incoming and outgoing change sets include changes to the same file 

C. When incoming and outgoing change sets include changes to the same folders 

D. When incoming and outgoing change sets are coming from two different users 

Correct Answer: BC 

 

QUESTION 7

When using the Scrum process template for a project, which two work item types would one expect to see on a Product
Backlog? (Choose two.) 

A. task 

B. milestones 

C. defect 

D. epic 

Correct Answer: CD 

 

Latest C9510-820 Dumps | C9510-820 Study Guide | C9510-820 Braindumps                                3 / 5

https://www.certbus.com/c9510-820.html
https://www.certbus.com/c9510-820.html
https://www.certbus.com/c9510-820.html


https://www.certbus.com/c9510-820.html
2024 Latest certbus C9510-820 PDF and VCE dumps Download

QUESTION 8

What does the permission indicated below in the Team Configuration of a Project Area Editor allow role members to do?
Team Configuration-> Source Control->Replicate change sets- >replicate 

A. replicate change sets to another user\\'s workspace 

B. deliver changes to a flow target on a different RTC server 

C. deliver automatically all the changes made in a workspace 

D. replicate the profile of a user on another RTC server 

Correct Answer: B 

 

QUESTION 9

What is a function of a snapshot? 

A. to create a picture file of a specific work item in an iteration plan 

B. to capture the state of all the components in a stream or workspace 

C. to lock a set of files in a repository workspace and provide isolation 

D. to track the flow targets for a repository workspace to another workspace 

Correct Answer: B 
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QUESTION 10

A team wants to benefit from synchronous collaboration by using instant messaging. Which statement is true about
Rational Team Concert support for instant messaging? 

A. Rational Team Concert does not integrate with instant messaging tools. 

B. Teams can use chat features only if they are using the IBM Sametime instant messaging product. 

C. Rational Team Concert provides instant messaging capabilities, and no other tool is needed to initiate chats. 

D. Teams members can initiate chats when they configured Rational Team Concert to integrate with an instant
messaging tool 

Correct Answer: D 
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